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1. #E=  ELRACRERIZ b
2. ®a= [PDFY-P45 - 56GMGO
3. HEEREETT
(1)#xEE (E&HES) W= 28 kg
(2)7>Hh—mHiL b
DA% N= 4 ES
@Q% 4 X - ik =M 10 FiZ
@ 1A%7 Y OMITER (FEIC & 2 MEH) A= 78 mm’= 78 X10°  |m’
OHERETE A EZXTIHBEDSIRY 222 R0 T > h—HRIL b DA Nt= 2 ES
(3EAES VRBELE TOBE Hg= 140 mm= 0.14 m
(MR T2HEL S BIAFIL k2t L= 643 mm= 0.643 m
(5)RETT 25MAHD 5 BIAIL b Ebh SEEREDE TOIEE Lg= 285 mm(lgsl/2)= | 0.285 |m
4. REEE (BEOMEUT2HEZMEAA L TEH)
(1) EtRKFERE Kh= 1.0
(2)%EtFshERE Kv=Kh/2= 0.5
(3) AR FEHESR Fh=Kh-W-9.8= 274.4 N
(4)RETHRERED Fv=Kv-W-9.8= 137.2 N
(5)7 > H—FL kDBIHKA Rb= Fh'Hg+(W'L9'Z:FV)'(L'Lg> = 144.5 N
(6)7 v h—FI kDEAKH Q=Fh/N= 68.6 N
()7 h—FRIL MMETBENE
SS400DHE
OB RIS HE 0 =Rb/A= 1.9 MPa < Ft= 176 MPa
SS400DHE
@QEAMIEHE T =Q/A= 0.9 MPa < Fs= 101 MPa
@BIRETAMEREFICZ S 256 fts'=1.4ft-1.6 7 = 245.0 MPa
@=L, fts'=sfto & & fts=fts' fts'>fto & Zfts=ftThH 2D T fts= 176.0 MPa
o= 1.9 MPa < fts= 176.0 MPa
(8)7 > Hh—HIL hDELE
@7 ¥ H—H k ORETE - BARLET ¥ H— \
@avsu—toEs - 150 mm= 0.15 m
ORI+ DIBAR S - 110 mm= 0.11 m
@HFEB|KME Ta= 5500 N> Rb=| 1445 |N
L EogiigsdE s ), 7y h—RL NI+ oBmEEET S,
MR b OFFIGHE . MR %Et - BETIE4H2014FEERR] IC& 5,
AR ZET Y A—FRIL MOV TOBRERTETHY . BROMEBEZRIET 2H0TIEHY A,
L i 1 954 |
| | |
e v, A . " z 2 Pz, L —
" H=' 130 |'mm
20 1l Hg= 140 mm
T <}: ['1]3 LJI.IL-‘ C: EE L= 643 'mm
& e @ le= 285 |mm
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1. #E=  ELRACRERIZ b
2. ®a= [PDFY-P45 - 56GMGO
3. HEERFETT
(1)#xEE (E&HES) W= 28 kg
(2)7>Hh—mHiL b
DA% N= 4 ES
@Q% 4 X - ik =M 10 FiZ
@ 1A%7 Y OMITER (FEIC & 2 MEH) A= 78 mm’= 78 X10°  |m’
OHERETE A EZXTIHBEDSIRY 222 R0 T > h—HRIL b DA Nt= 2 ES
(3)BAEL VERELE TOES Hg= 140 mm= 0.14 m
(MR T2HEL S BIAFIL k2t L= 643 mm= 0.643 m
(5)RET BHMD S RIAN b i HEBED & TOMERE Le= 285 mm(lg=L/2= | 0285 m
4. REEE (BEOMEUT2HEZMEAA L TEH)
(1)t AkFRE Kh= 2.0
(2)EtmnERE Kv=Kh/2= 1.0
(3)BETAATHRS Fh=Kh-W-9.8= 548.8 N
(4)ZEFRERES Fu=Kv-W-9.8= 274.4 N
(5)7 > h—H kOBIHRA Rb— Fh'H'g*(W'Lg'z:FV)"L'Lg) - 2125 N
(6)7 > Hh—HIL bDEARA Q=Fh/N= 137.2 N
()7 h—FRIL MMETBENE
SS400DHE
@315 HE 0 =Rb/A= 2.7 MPa < Ft= 176 MPa
SS400DHE
@QEAMIEHE r=Q/A= 1.8 MPa < Fs= 101 MPa
@BIRETAMEREFICZ S 256 fts'=1.4ft-1.6 7 = 243.5 MPa
@=L, fts'=sfto & & fts=fts' fts'>fto & Zfts=ftThH 2D T fts= 176.0 MPa
o= 2.7 MPa < fts= 176.0 MPa
(8)7 > Hh—HIL hDELE
@7 ¥ H—H k ORETE - BARLET ¥ H— \
@avsu—toEs - 150 mm= 0.15 m
OFL k DIBAE & - 110 mm= 0.11 m
@HFEB|KME Ta= 5500 N> Rb=| 2125 |N
L EogiigsdE s ), 7y h—RL NI+ oBmEEET S,
MR b OFFIGHE . FIEMIELET - EIIEE2014FERR] IC& 5,
AR ZET Y A—FRIL MOV TOBRERTETHY . BROMEBEZRIET 2H0TIEHY A,
L i i 954 i
| | |
e v, A . " z 2 L —
" H=/ 130 |mm
o 1l Hg= 140 |'mm
= i b S w L= 643 |mm
& b= @ Lg= 285 |mm
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